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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
You have to write your answers in separate answer sheet:

feeTaareht amea: 1. Please write your Centre Code and Seat No. very clearly (only one digit in
‘ s e : one block). Before writing your Seat No. get it ascertained.

. W e il W L ﬁwa' ol Please see that no block is left unfilled and even zeros appearing in the
Sy TR S R g b Lt Rl o Centre Code and Seat No. are correctly transferred to the appropriate blocks
HIRIET T e T e =reh qgﬁn . YR 3 SERACTHT A Hpera on the booklet and on the answer-sheet.

ST i o R Hehdieh A Yo Sk SV A g1 A S fee. For all subsequent purposes your Centre Code and Seat No. shall remain the
IO : | same. Centre once allotted will not be changed.
CENTRE CODE &% Hohdih Example :
: CENTRE CODE &% Hehdlsh
SEAT NO. 3THT shHleh
mmwmw@ ~ [SEAT NO. st FHi
e JE TN A 4 {2. All questions carry one mark each.
’ , 3. All questions are compulsory.
. TEEN WO I AT A WA @ s S oo W S 4. If you do not know the answer to any question, do not spend much time on

oL e TR ST e STeiedl e T Teied YR greTel IR forar e e,
. T TR g v 35 T S e SR R SRR ST
. T 3o TR Sai Agfavardel “gera grar areit” Scholastic Aptitude Test

it and pass on to the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

. Since the time allotted is very short you should make best use of it. The

rough work is to be done on the last page of the question booklet.

6. Remember you have to mark on your answers in "Scholastic Aptitude Test"
< ST m e qﬁﬁ it T 7 Section of the answer-sheet only.
. I JEIAl SEREE WA He) Tt el oTRd. el Ser ST AT 7. The answers to each question are given in the question paper. See the number
FHE YgT 9 SANUrTeRal foiedl I Y¥TshHishTIe TS A T wHie fegd of correct alternatives among them and by selecting the correct option
| S e,/ Fiear TR YEited #3. | | number of the appropriate questionnaire on the answer sheet, highlight it
, S L | ; | | with BLACK/BLUE pen only.
. 2 S o W i W_W o W oW sl 8. Do not write anything except Centre Code Seat Number and rough work

ISENRED

anywhere in this booklet.

Now turn to the next page and start answering the questions.

9mmﬁwm€%®mwm - | 9.
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GMRT & gfam ... 71 fowml IuReht SR,

(1) feaas (2) @eR (3) FEE (4) =f¥reR
1.5 < @t aSwerR 2 wweRe (N/m?) T@ Fafn @en sde @ 9gd aard e
fepdii? e

PO -+ Sat (213N 3)3 N (4) 3 dyne

. SEPBAA e AN A e g, H-

(1) ST 3| e,
(3) YU TR S STEdl.

() TAETiE w5 HH Sl
(4) TS TEagE FH Seren STl
g, e, T, SEee

(1) @ (2) Fa (3) @i (4) wHEnee

. 2 geld susdn wead Eredidl sivayenr el wem dge/ade?

(1) 37 FaFiY Gomia ya THEEHT T S,
(2) 27 JuerE e ya TEEEEN e e,
(3) HoHA gawr yRulen s iicaes.

4) ()9 3)re.

(2) sifEfiE EdT TSaEd TOHITEE B,

(3) W fFor wuii 9ee AT,

(4) e frtu farga Jeuriel TERdE.

7. SRUE TOBE TR <coosrrrserressinn S @R e
(1) Frafia e (2) sAfmfaa waad
(3) oTeria (4) THERTE HHH
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SCHOLASTIC ABILITY TEST

1. GMRT is set up at -------------

(1) Chinchwad  (2) Khodad. (3) Panvel (4) Nashik

. If 2 pascal (N/m?) pressure is acting on area 1.5 sq.m the find the value of

force excited?

(1) 0.7N (2) 1.3N - (3) 3N (4) 3 dyne

. What is the reason when we see the bleeding through the nose of child in
summer?
(1) Atmospheric pressure increases (2) Atmospheric pressure decreases

~ (3) Blood pressure in body increases (4) Blood pressure in body increascs
. Find odd one out

~ Tron, Nickel, Copper, Cobalt
(1) Tron (2) Nickel

(3) Copper (4) Cobalt

. If two objects are attracted, then what is/are inference/s.

(1) Alike poles of two magnets are close together.

(2) Unlike poles of two magnets are close together.

© (3) Magnet attracts magnetic substance.

(4) Both 3 and 4.

. With respect to irregular reflection which of the following statements is incorrect.

(1) Laws of reflection are not followed.
(2) Irregular reflection takes place on rough surface
(3) Reflected rays are not parallel.

(4) Reflected rays are scattered over wider surface

Image formed in mirror is due‘to

(1) Regular reflection (2) Irregular reflection

(3) Refraction (4) Transmission of light.
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8.

10.

11.

12.

13.

mmmawmﬁﬁﬁmmwm
(1) Sze Seadia 9 WA SEe. (2) Sede 9.
(3) WU ST @@= (3) T

. AR geAtel EEH FAR e T yEe Sl e

(1) 6 x 1017kw
(3) 7 x 10 7kw

“(2) 6 x 1018kw
(4) 7 x 1018w

“Yofits arg aTTEen WRS T o SIR” AEedIa WEfieiE! How oI @
Ba E?
(1) ¥ Tt 92 B (2)WH?WW§@HWWW
(3) ¥ WW 9 HeS I IR (4)Wﬁa3rvréamﬁé
=B rLca: B SRR IROTHER. STacad 3R,
(1) forgagaeTa o (2) forgaemean siifoorsh
(3) feregeemian gkt (4) vafdd e

wWy ‘3’ _ ; Wy ‘9’
1. |fo=@ = v (i) |fomE =ea fdwen
2. |feRE SwmwO (ii) |fergaae-mer =
3. |9®® | (iii) | fasmarer fmfor o
4. |sure-a% B FB | (iv) | fore e R
I.1-1 ' 2-i 3-1v 4 — iii
2. 1—-1u " 2-1v 3-1 4-—-1
Folwiv w2 3 — iii 4—ii
4. 1-1i 2-1 3-—-1v 4—ii
£ | Bt o T [ ™ -  SUORRRORO mwmmm
(1) forE@ o wadq _ |
(2) fogmemn e aRomm N S|
(3) fereaem=n siifoores aftomH
(4) yafia g 10

G
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8.

9,

10.

'According to opinion of scientists mineral oil and Natural gas are formed from?

(1) Marine remanants of plants and animal
(2) Remanants of plants

(3) Remanants of animals

(4) 2 and 3 both.

abundant energy per year.
(2) 6 x 1018 kW
4) 7 x 1018 kW

Earth receives about
(1) 6 x 1017 kW
(3) 7 x 1017 kW

‘Natural gas is a very convenient fuel to use’. For above statement which of
the followings property is not applicable. ’

(1) It lights up quickly.

(2) It does not leave behind any solid substances.

. (3) It is cheap and easily available.

D& | v
' (3) Electromagnetic

12.

13.

(4) Its burning can be easily controlled.

The working of electric bell is based on effect.

(1) Electromagnetic induction (2) Electrothermal
(4) Induced magnetism

F1nd out the correct pairing option between component of electric circuit and
~ its function.
‘A’ column ‘B’ column
1. | Electric cell Tl (i) |indicates the flow of current
2. | Electrical gadget (ii) |controls the electric current
3. | Conducting wires (iii) |develops potential difference
4. | Open-close type key (iv) |conduction of electric current.
(M 1-1 2-1 3-1v 4 —1iii
2) 1-um” 2—-1iv 3-1ii 4 —1
= 2-1 3 —1il 4 —1i
(4) 1-1i 2 -1 3-1v 4 —1i

Following diagram is éo understand  experiment. |
(1) Electromagnetic induction | N
(2) Electromagnetic effect
(3) Electro thermal effect

(4) Induced magnetism

a®
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14, a8 (CH,) = Womaed e wgm fovch? |
(1) 2 2) 4 (3) 1 4)3

2 STewT FRTTHE TR o2 |
(1) sifem (2) =W Q) (4) FoRE &
16. f uER e TOSERE ST R ST coeecreenrnenee a1 ST e,
(1) TEgSA (2) FTEGA TEERS
(3) sAterdtSH (4) FETEEAFES

17. Na,CO, + 2HCl — > A+B+C
afte fufsddia A, B 9 C siiea@n

(1) NaCl + 2H,0 + 2CO,
(3) NaCl + H,0 + 2CO,

(2) 2NaCl + H,0 + CO,
(4) NaCl + H,S + CO,

18. Griets! o gipdgar W3 onfor it e Fe SW?

(1) 9Tt Sealuras (2) MesuTHfsHAT
(3) SR (4) wHSTTE |

19. @ doE R, fedw ¥ e e Ben Ted A daw
(1) e (2) TR ' |
(3) forgm eTome (4) 9ot Sedura

20. @refte e e #U 9 9] feum (X a9y S d sieEn?
| I B e =%
!

NaOH
e
il Solution

(1) CO, - @H 3) 0, (4) CO
21. sta 2 Wiy weienwl BN aE Ao s?

e S Q) + P

(3) @rEs + e 4) Wfwem + fba
[NMMS-MS-SAT [ viiI | S1 | _ | ,

14. The valency of carbon is methane (CH,) molecule is —
m2 Gl b ooa it (@) 3

15. The charge present on alpha rays are

(1) Neutral (2) Negative (3) Positive (4) None of these

16. Which gas is evolved, when zinc metal reacts with dilute hydrbchloric acid
(1) Hydrogen (2) Hydrogen sulphide
(3) Oxygen (4) Carbon dioxide

17. Na,CO, + 2HCI A+B+C
Identify A, B & C in above reaction

(1) NaCl + 2H,0 +2CO,
(3) NaCl + H,0 + 2CO,

(2) 2NaCl + H,0 + CO,
(4) NaCl + H,S + CO,

18. By which following process, common salt from water can be separated?

(1) Fractional distillation
(3) Distillation

(2) Filtration process
(4) Chromatography

19. The compounds like Petrol, Diesel from crude oil is seperated by
(1) Distillation
(3) Electrolysis

(2) Chromatography
(4) Fractional Distillation

20. Observe the following diagram, the gas evolved ‘X’ is

Aluminium
metal —'X'

>

NaOH L) ‘.' ® 2o

st 1> e 1 5 3

sttt Solution O
3

(1) CO, Tesly 3) 0, 4) CO

21. Alloy Bronze is a mixture of following metals
(1) Copper + Tin (2) Copper + Nickel

(3) Iron + Copper (4) Chromium + Nickel
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22. Telieis FIU@ FierEl YHR L

(1) de (2) fermge (3) faefra (4) Tafeasia
23. feclin TRime qRE T HOUIEE WefieiEw! HIME SR HE
(1) ferme (2) H=ifsEm (3) g (4) wife™
. 300°C
24. Mno, ~ 2KCl+ 30,
g sifafeadia A 34‘@'@1
(1) KCIO, (2) 2KCIO, (3) KCl (4) KMnO,
ZSWWWW@ ............... o1 IO HLAE AT e
................ ¥ 9 TE el
(1) CO,a O, ) 0,3 CO,
- (3) 0,3 CO, (4) CH, 3 CO,

126, TS R agE TeET siww
(1) Teirm, et qen e/ _,
(2) sttt FEA SESiTEE, defad
(3) faita, tfedism, FHETSERRES
(4) I, AT, FHETSESTHRIES

27. WWM&WWWWWWWW

HER e TR Bl _
(1) SERH (2) SRR (3) HERR (4)1“-q'sra$
38 ol A Heliard SN STk FHdT |
(1) femmog (2) Sitam] (3) smfesia (4) fvoa
. R W@wmwﬁ@q@ﬁzﬂ%m%ﬁmwwm
(1) Rfrewwa (2) Fffesm (3)3@aw (4) Tssifae™
30. SEEH T coovvvccrrennns YR . : ,
(1) HehrEl (2) ST (3) enfestaman  (4) fpwemn

[NMMS-MS-SAT | VIl | S1_|

22.
23.

- 24.

25.

o 2b;
2y

28

29.

30.

Which of the following is not a type of coal.

(1) Peat (2) Lignite (3) Bituminous . (4) Silicon

In drilling machine & in glass cutting the following substance is used.

(1) Lignite (2) Magnesium (3) Diamond  (4) Platinum

@ 300°C
MnO,
Identify A is above reaction

(1) KCIO, (2) 2KCIO,

2KCl + 30,

(3) KCl (4) KMnO,

In photosynthesis process, plants use & evolve gas

in atmosphere.
(1) CO, and O,
(3) O, and CO,

(2) O, and CO,
(4) CH, and CO,

Identify, the group of Inert gases
(1) Helium, Neon, Argon (2) Oxygen, Carbon dioxide, Helium

(3) Neon, Oxygen, Carbon dioxide (4) Argon, Oxygen, Carbon dioxide

For maintainance of natrue's chain bacteria plays an important role they includes
under :

(1) producer (2) herbivores (3) carnivores  (4) decomposers

has a simple structures without Cytoplasm or organelles.
(1) Virus ~ (2) Bacteria (3) Protozoa (4) Yeast
: bacteria produce a poisonous substance called enterotoxin in
foodstuffs

(1) Staphyllococcus (2) Clostridium (3) Azetobacter (4) Rhizobium
Diatom is

(1) Fungal

type of organism

(2) Algal

(3) Protozoan (4) Yeast

| NMMS-MS-SAT
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31.

34.

36.

(1) & - (2) TR (3) fowmser (4) &F

. e SR WEeAa wiven dren fride (e 3R wece o

(1) i@ (2) wfe=n (3) &3 (4) @5

Tmﬁaﬁaﬁﬁmﬁ%ﬁmmwww7

(1) g (2) FaF (3) fermmoy (4) Ve

Wmmam_mm@mmwmm?
(1) a8 (2) gﬁa@m ; (3) agua (4) T.HELHEL

(1) ser (2) ¥ iphs, (R (4) =9

(1) ®@e — #rdt Sl s
(2) e — SHE @O
(3) faear — Uit
(4) WM — TR

37. APEn oA SRR TR e T HIUR T SeEd S
() Fem = (2) Fi
€)1 L (4) oAt w@
38. sAfmEmeE ... TSAA YT B |
(1) favem RKizrhindg (2) T
G)wsE 5 (4) i
39, wfir FieofiarES! STEvas STUUR TNES] iV 7
(1) gfem ‘ (2) %]
(3) FTERE (4) dgma =

| NMMS-MS-SAT | VITI | S1 |

31. ; disease is caused by direct contact of diseased person to the heatthy
person .
(1) Eczema (2) Influenza (3) Typhoid (4)' Tuberculosis

32. Yorthe control of which disease world health organization (WHO) implemented
DOTS centre?
(1) Cholera : (2) Polio (3) Tuberculosis (4) Rabies

33. Which of the following living constituents are not found in soil?
(1) Bacteria (2) Fungi (3) Virus (4) Algae

34. By which way the social forestry project of the Maharashtra Government is
carried out in the school?

- (1) Vanarai (2) Harit Sena  (3) Vasundhara (4) N.C.C.
. 35. Which of the following animal is not harnessed to work agricultural implements?
(1) Horse (2) Bullock (3) Camel (4) Buffalo
36. Identify the incorrect pair from the following.
(1) Spade —  pull the soil
(2) pickaxe — to dig the ground
(3) Scythe ~ harvesting
(4) Tiphan - ploughing
37. Name the fertilizer which is made from the bones of dead animals?
(1) Bacterial fertilizer (2) Compost
(3) Bone meal (4) Chemical fertizlizer
38. In Amocba reproduction takes place through ___method
(1) Binary fission (2) Fragmentation
(3) Vegetative ' (4) Budding
39. Which nutrient is essential for body building?
(1) Proteins " (2) Fats
(3) Carbohydrates o 4) Fibrous substances
[ NMMS-MS-SAT ‘} vir| st | e |




40.%%@310%12%@&3@@%#@%@@%@

- SmEr? .
(1) = () &R (3)® A (4) U
41. ‘wrand <’ & vy won fafgan?
(1) ¥a E (2) Ha FATR
(3) §d gHEH v (4) T THAY _
42. YraE GeaEE fafifd woren fafen sfusr=r wwiE e
(1) T wms= (2) @rE AFtA
 (3) |t wiHafeH (4) @t afen
43. AT s TESiE TATEE e, e’ AL
(1) e (2) faere
(3) FawTE (4) T

44, s e e W i R
(1) T 3 %9 © Q) W 9 T AN
(4) U9 9 FEASRIE MEATH

45, [Eie WA AT HIATEY et 9 o
(1) @i Suen SERATE =ifvd el
(II) e sEmEdia T 7 ohel.
(I11) ¥ =EmEdil sTfter WesT TIeE hel.
(IV) g & et '

(1) AV), PRt | (D, (1)
(2) (D), (IV), (Do (1)
(3) (11D, (1D), o KRR (D
4) (AV), (ID), (M, . (111)

46.mmmmqwﬁmmwﬁﬁ@éwﬁ?

(1) Hrerad ' ' (2) an=it @ =T

(3) STERI-T-THI - (4) wfEAiE Tem
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40. To obtain daily 10 to 12 litres milk the Indian cow is crossed with which bull?
(1) Dangi (2) Devani - (3) Red Dean (4) Kandhari

41. Who wrote the epic book ‘Bhavarth Deepika?
(1) Sant Namdev :
(3) Sant Tukaram

(2) Sant Dnyaneshwar
(4) Sant Eknath

42. Identify which British officer organized Civil Services in India.
(1) Robert Clive ' (2) Lord Macaulay
(3) Lord Cornwallis (4) Lord Bentinck

43. Chhatrapati Shivaji Maharaj's coronary ceremony took place on Fort.
(1) Shivneri (2) Singhgad (3) Pratapgad (4) Raigad

44. The conflict at Srirangapattan occured between which two rules.
(1) British and French
(2) British and Bajirao II
(3) British and Tipu Sultan
(4) British and The Mughal Emperor Shah Alam

45. Arrange the following events in chronological order .
(I) The colonies issued the Declaration of Independence.
(IT) England acknowledged their independence.
(IIT) Thirteen colonies together established the federal republic of Amerlca
(IV) Bostan Tea Party.

(1) @), o o (1), (IID)
(2) (D), S e ), (IID)
" (3) (), (In, - aw, )
4) V), (I, (D (IID)

46 Who's co-sailors completed the circumnavigation in the first sea-voyage in the
history of the world?

(1) Columbus (2) Bartolomeu Dias
(3) Vasco da Gama (4) Ferdinand Magellan
[NMMS-MS-SAT  [VII| S1 | S ' |




47.
48.
49.
50,

g
52.
53.

54.

35.

'wmw'mmwmmmmwﬁmﬁmaﬂ?
(1) MU F TEA (2) Tl O STRHT

(3) &l o aHe (4) TRE RS
1857 =0 TRl ‘ERAHER' B A coovercernns i .
(1) Ta=ER foEs FEt (2) S fezh

(3) dfed SRt 8%

(1) 9 SR (2) 4. vEREE Ee
OEECREEE I C (4) TeaINE TeE
TRAE T TS T ovvvvvvneenrennenssnen e

(1) IR (2) SER (3) AT (4) TOER
TeIEHY W SIS Il Ay HIOMNA HifdehrT= g fer@t

(1) safam (2) FWR I

(3) satem (4) e

AT A SRR TETAAEE hIeEe Hw?
(1) 1857 % 1885 (2) 1885 & 1905
(3) 1905 & 1920 (4) 1920 & 1947

e o T <R SRR FR S

(2) SETERY S
(4)%@“@’
‘wmmm'mwmwm?
(1) wren SS9 (2) FAFRT 3TRH]

(3) A e (4) TFO AuSh ArES
(1) ok @ : (2) ISe A
(3) %S frw (4) T, TR
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47.

48.

49.

50,

Who had strongly objected to the attitude that confined woman to kitchen and
child-rearing?

(1) Gopal Krishna Gokhale
(3) Dr. Annie Besant

(2) Gopal Ganesh Agarkar
(4) Dadabhai Naoroji-

stated that thé revolt of 1857 was the First Indian War of

Independence.
(1) Swatantryaveer Vinayak Savarkar (2) Lokmanya Tilak
(3) Pandit Nehru (4) Krantisinh Nana Patil

Identify the First Person to launch individual Satyagraha.
(1) Maulana Azad (2) Pt. Jawaharlal Nehru
(3) Acharya Vinoba Bhave (4) Vallabhbhai Patel

was the largest princely state in India.
AL Kashmir (2) Baroda (3) Junagad (4) Hyderabad
Find out the correct alternative of revolutionary who killed Mlchael O'Dwyer

51.
52.
53,

54.
(1) Lala Lajpat Rai

S5.

in England.
(1) Anant Singh
(3) Bhagat Singh

(2) Sardar Udham Singh
(4) Gurubaksh Singh

Which period is regarded as the extremist phase in the freedom struggle of
India?

(1) 1857 to 1885
(3) 1905 to 1920

(2) 1885 to 1905
(4) 1920 to 1947

Who represented the Dalits in the Round Table conferences?
(1) Dr. Babasaheb Ambedkar (2) Babasaheb Bole
(3) Gopalbaba Walengkar (4) Mahatma Gandhi

Who is described as the ‘Father of the Indian Workers Movement.?
(2) Muzaffar Ahmed

(3) N.M. Joshi (4) Narayan Meghaji Lokhande

Which one of the British Minister was not included in The Cabinet Mission?
(1) Pethick Lawrence (2) Mountbatten
(3) Stafford Cripps (4) A.V. Alexander

NMMS-MS-SAT
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56. = fég W= FE s
Tl R 56. Which one of the following alternative is the campaign of Azad Hind Sena?

OR L GG ‘JIUﬁ fiset - (1) Posts on the eastern border of Assam were captured
(2) wiae =t TeT= TG Hedt (2) Established Forward Block Party
(3) eI Toue et o (3) Established a parallel government

(4) 3=a foamomsh TEor el e FET oo (4) Availability of higher education for youngsters.

57. As per the diagram given bellow which

lll

57.@wﬁamﬁﬁﬁmm.amm

b s e - o letter refers to ‘Néw moonday’ - ?TE
| = (HP 2 Q e
(1) P ) Q o - e
B)R (4) S = B)R 4) S e
58. @l Aweh B g e - el 58. Which nation of the following is not member of ‘SAARC’ organization?
(1) M - (2) T\ (3) =R (4) SRy - (1) Nepal (2) Bhutan (3) Mynmar (4) Bangla Desh
59. ‘weT’ @ W STE! e 9eeR TR ? : | 59. On which island Mt Etna, an active volcano is located? _
(1) wfefr (2) wifden (3) Y= (4) fafgeft .~ (1) Sardinia - (2) Corcica (3) Pelopniz (4) Sicily
60. @reiia friteqor <2’ _ e o . | 60. As per given diagram Letter ‘Z’ is refer to — .
31@?!’1% qO ‘2 g il qehuRl Hedia ame wiowd? , p.g % | X &
(1) =g &g ; Z (1) Epicentre .
(2) sperarsit i (2) Focus
) IO (3) Surface Waves
(4) nufis =d

(4) Primary Waves

.61. Which option shows correct pairs at matches.

61. i Steai T st

, 1 . L : I II
(a) ﬁﬁﬁ » (A) |\ @it e | - |(a) |Kimberley (A) |Gold mines. ‘
(b) W‘ﬁv : (B) |HwHS @it - |(b) [Congo _ (B) |Manganes mines.
Eg ::12'{113 _ (©) 1%?1’6&1 g 1(c) |Wilwaterand (C) |Diamond mines. |
; (D) | wmft | (d) |Ghana (D) |Copper mines. i
-D T . i . h ,
(2)a et b c-B d-C (1) a-D b-A c-B d-C
2)a-B b-C c—-D d'- X
W (2) a—B b-C cip d=A
3)a-C b-D c—A d-B 3 C b=D A d-EBE
(4) a-A b-B c-C d-D i p i s
o (4) a- A b-B ¢ C 4-D

NMMS-MS-SAT § | '
l | 2R - | [NMMS-MS-SAT | vilI| S1 | i3 (19032



62.

63.

SAeH 3M@3d Rl 3TN TWEF TR eoeeerererrererererenrenns
(1) Tesr= (2)3Tﬁ=ﬁr
(3) == (4) TrasT

faferet 9 AmfEm a1 qosea=n WYIH S g e wividi;
(1) 9meRE (2) T (3) Hr (4) faa=t

64. IS YRV AT AT FAR SATFR cverveeoernsnns
(1) =it Sufeerd (2) Siswen
(3) sreedt (4) =sreht sray feerd
65. T T SUUR VK SNl
(1) am (2) 9FR (3) =1 (4) J=hH
66. I SedEl YIig Nl
T )
(a) | e (A) |fae #
(b) |gzzm _ (B) |@==r
() |@mm (©) |vnfrr
(d) | =wgan wier (D) |fedemm
(1)a—C, b-D, c—A, d-B
(2) a-B, b—A, c—D, d 5L
3) a—A, b-B, c—-C, d-D
4) a-D, ' b-C, ¢-B, d-A
67. ‘nﬁa@?m TIHIAIA SIS SEF  HI0r?
(1) Tafas e S ¢ ¥ o 1.
(3) foeres 4) fadas e

68.%%%#@@‘%@%%%%@@@

(1) ¥ — ¥ - R - fF i_e
(2) Pt FH — FH - TR - wEq
(3) f_r — ferd ¥ — v - R
(4) Td — TR - "E - fF iR

| NMMS-MS-SAT | VIII | S1 |

62. Which one of the following do not contain fossils?
(1) Sedimentary rocks (2) Igneous Rocks

(3) Sandstone (4) Limestone
63. Which layer of the earth consist of compounds of silica and magnesium.
(1) Mantle (2) Core (3) Sima (4) Sial

64. The changing shapes of the Moon are called
‘ (2) Phases of Moon
(4) Apogee position

(1) Perigee position
(3) Ashtami
65. Find the odd man out from the following :

(1) Wind (2) Sea
(3) Groundwater (4) Earthquake

. 66. Find the option shows correct matches.

A _ ' B

a.  Wave cut — Platform (A) |Chilka _

b. | Beaches (B) |Revdonda

c. | Lagoons (C) |Ratnagiri

d. | Sand Bars (D) |Dive Agar
(1) a-C, b-D, c—A, d-B
(2) a-B, b—-A, c-D, d-C
(3) a—-A, b-B, c-C, d-D
(4) a-D, b-C, c—B, d-A

67. Which component from ecosystem produce food?

(1) Primary consumer

(3) Decomposer

(2) Producer

(4) Secondary consumer

68. Select the option that shows physiography of Germany from South to North.

(1) Mountain " Plain Plateau — Coastal area
(2) Coastal area — Plain Plateau — Mountain
(3) Plain — Coastal area— Mountain — Plateau
(4) Mountain - Plateau Plain — Coastal area
- [NMMS-MSSAT _[Vi[| S1 |




() Psv (2) PSG (3) GPS (4) GSP
70. 3 i€t seEn |
(1) TER - e (2) wlesw - drel
(3) SEFERER - AW (4) ORI - SRRTETE
71. ST Y@ W HIval IR .
(1) et @) fFee  (3) Fm @
72. s S s
(1) |HIAR - T HA SFaUEde HeEA
(2) 7% @R - - A ST FHEA W
() @9 AR~ - @ So@ SEeedl FHreEd W

| (4) e SAR - SR HEds gEeAa W ) RS
- 73, W dRoTede sifid S e aRE HROE e v fee

(1) wafawm (2) SfafershTo
(3) <N SMER (4) wrwwEn
74, TEEI=A TSR] UM TR 312 i g9 7
(1) 18 (2) 25 (3) 21 -(4) 30
75. DT GFRA S oo Al qUIEYel eeTen ‘Tegsy’ W WU,
(1) sfe ) ¥ (3) @ (4) s

76.@@?@%3@@?@?@%@3@@%@.
(1) |=wEer - 550
(3) werrg faurEsr - 388

(2) T - 250
(4) e faum ofwg - 78

77. ‘R W’ HIEh dadia eTe?
(1) gaiaRo
(3) TR

(2) sTeTETh

(4) TZHRET

[NMMS-MS-SAT | VIIL | S1 | |

69.

70.

71.

72.

o

74.

75,

76.

T

-“‘Kyoto Protocol’ is regarding

Global Positioning System Means
(1) PSV QQPSG = (3)GPS (4) GSP

Find correct pair from following
(1) Maharashtra — Gopal
(3) Jammu and Kashmir — Taga

(2) Karnataka — Todas
(4) Saurashtra — Bakkarwal

Which is the popular game in Germany? ‘

(1) Football (2) Cricket (3) Tennis (4) Hocky

Find out wrong pair from following : :

(1) Uniform Slope - Equidistant contour lines

(2) Gentle Slope — Contour line are far away from one another

(3) Steep Slope — Contour lines are close to one another

(4) Concave Slope — Contour lines with higher values move far away

from one another.

led to an increase in the influence of the economic factors on
foreign policy.

(2) Globalisation
(4) Population

(1) Environment

(3) Size of a country

A Rajyasabha candidate should have a minimum age limit of __years.
(1) 18 - (2)-25 (3) 21 - @30

‘The tense relation between the Soviet Union and are referred to as
the “Cold War’. | , |

(1) America (2) China (3) India (4) Germany
Identify the incorrect pair of the house and the number of members.

(1) Lok Sabha — 550 (2) Rajya Sabha — 250
(3) Maharashtra Vidhan Sabha — 388 (4) Maharashtra Vidhan Parishad — 78

(2) Children's Right
(4) Foreign Policy

(D) Environment

(3) Disarmament

[NMMS-MS-SAT _ [VII| S1 | X _



78. af¥aeh TEY U TRl 3THA?

(2) wrEl g,

(1) Sitfearsn g,

(3) wifeden &sh. (4) Torgom=n gow.
79. SNRTEE <A™ HEACE IV WM -2 .

(1) = (2) gt (3) = (4) smfm
80. “ar=n RERYET wald WS R HIvR?

(1) H¥ErR (2) ufiferarg

(3) EIEHICEIS (4) <BEER
81. 3 et e SO C B 1 0 e R 3.

;. B
M) \f @ \/: B )3

4 ‘82.

83.

84.

(1) 3.4 + 4.3) ¥

00023mwwﬁﬁa@ma@wﬁa&aﬁaﬁméfamwm
(1) sT@s oTedt w9 fagar 3. (Z)aagmﬁﬁwafaémﬂvmmﬁ

(3) sufHa Fe 3R (4) srs S SR,
swmmsmmaﬁmmmmmmw
SN TUIRR T,
1)3:5 (2)5:2 (3)5-6 4)3:2
TS A PQRS ® %9f PR = 6 9t 3 &vf QS = Sﬁa@%mmmﬁ,ﬁ'
| PQRS =t wfifict feet? : P S
(1) 28 &#t. (2) 24 4.
(3) 20 @, (4) 25 o+,

Q R

. &% ‘O’Hﬁw3ﬁq°tmﬁwa§arrasﬁﬁ1AB=3.4@n°raaﬁa1PQ=4.3w

Tqe3 Sher=l WehTd STMen 3Med. W AR (OA x OP) = faedi?

@@x3)w p/ \o

S () B4xanFR <

(4) 6 Bt
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78.

79.

80.
81.

82.

83.

84.

8S.

- (3) 34 x43)cm

- (3) Inter-State disputes

Which right is universal in nature?
(1) The Right to live
(3) Right to information

(2) Human Rights
(4) Right to education

The office of the International Court is located at
(1) France (2) England (3) Netherlands

(4) America

The biggest challenge before India's security is
(1) Boarder disputes (2) Religious disputes

(4) Terrorism

Positive — Square rout of the number 3 = 18

16
7 \/E
W |1 o

G2 ONG

Which of the following statement is correct with respect to the decimal number
0.0023. |

(1) Can be written in non — terminating recurring form.

(2) Can not be written in non — terminating recurring form.

(3) It is an irrational number.

(4) Non-terminating non — recurring form.

A segment of length 8 cm is divided into 5 congnient parts. Find the ratio of
the first three parts to the remaining two parts.

(1) 3:5 (2) 5:2 (3) 5:6 (4) 3:2

] PQRS is a rhombus. Diagonal PR = 6 cm. and
diagonal QS = 8 cm. Find the perimeter of the rhombus PQRS.

(1) 28 cm (2) 24 cm
(3) 20 cm 4) 25 cm

In the adjoining figure ‘O’ is the centre of the circle and radius is 3 cm. chord
AB = 3.4 cm and chord PQ = 4.3 cm. Chord AB and PQ are to the same side
of the centre as shown in the figure. Find distance (OA x OP) = ?

(1) 34+4.3)cm 2) (3 x3)cm

(4) 6 cm

| NMMS-MS-SAT
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86. T BRI dhes 84 TR ¥ SN WA 12 W AR, W reivmet S+ fRd?
(1) 24 9 (2) 12@11"1 (3) 16 9t (4) 18 9

- 87. 19, 2%33%&@%@@@@%@&@@%@%@@
adeh e forel orda? |
(1) 14 o (2) 7J2 ¥ )27 ¥ (4) V14 =R

88, st 2017 U wfeem 13 feaga faaer W AW TSoed e ik S wsd
R JHU AR, Koo Afediasd U™ HeHE el

23,1.3,4.0,3.2,4.3,5.7,48,29,5.7,43,5.7, 6.0, 5.7

(1) 3.2 2t (2) 5.7 it (3) 4.3 It (4) 4.8 Tt
89. a,b,cad & & WHIUIG ARA. AN Y-

(@axb=cxd ' (b)———

(c)a:b=c:d (daxd=bxc

JEEA IAEl ardg gEbg fee.
(1) W@ a, bd ¢ TR AR
(3) ® A b TR .

(2) Wi b, ¢ d d TR .
(4) T wd W R R,

90. (x + 1)} — (x — 1)* =t f&wa ferd?
(1) 3x2 + 5x + 1 |
(3) x*+.2¢* +5x

-(2) 3x0 ~x* +5x

(4) 2x3 + 3x2 + 5x

91.?‘:?%1*?3514@1%@«3 2@%@@5@%!)@@@11%
- @R 9 oTHar fRma o aa W TEM HEA HIUI?

{1330 eaRl) 45 Ra ) o il 4) 12
92. /64— 3Y-125 + 9 = Foreht? |
(s Py LR O SR e

| NMMS-MS-SAT | VIl | S1 | v ¥

86. The area of a triangle is 84 cm? which is 12 tiines the base of the triangle.
Find the height of the triangle.

(1) 24 cm (2) 12 cm (3) 16 cm (4) 18 cm

87. Find the radius of the circle whose area is equal to the sum of the areas of
circles having radius 1 cm, 2 cm and 3 cm.

(1) 14 cm 2) 742 cm 3) 247 em 4) V14 cm

88. The record of daily rainfall (in centimetres)‘in ‘Bitaka’ village in the first 13
days of August 2017 is given below. Find the mean rainfall for these 13 days.

123, 13,40.82 43,57, 48,29,5.7,43,5.7,6.0, 5.7

(1) 3.2 cm (2) 5.7 cm (3) 43 cm (4)4.8 cm
89. The numbers a, b, ¢, are in proportion. It means :
(a)aXb=c><d(b)—§—=—f1— (a:b=c:d (daxd=bxc

Select the correct alternative

(1) Alternative (a) (b) and (c) are correct
(2) Alternative (b) (c) and (d) are correct
(3) Only alternative (b) is correct

(4) All the above alternatives are correct.

90. Find the value of (x + 1) — (x —1)27

(1) 3x2+5x+1
(3) x3 + 2x% + 5x

Q) 3x° = x* + 5x
(4) 223 + 322 + 5x

91. The ratio of the two natural numbers is 3 : 2. If the number obtained by
subtracting 5 from the bigger number is divided by the smaller number, the

Quotient is 2. Find the smaller number.

_ 3 4 |
(1) 30 (2) 45 (3) 15 4) 12
92, Find the value of /64— 3125 + /9.
(1) 12 (22 1 Q)6 4) V12
NMMS-MS-SAT _ [viI| s1 |




93.

94.

95.

96.

23 x QP + Sy <7 =t

(a) 4 (b) %+ 3

(l)qﬁhmaacaﬂﬁ'{m‘

(2) vafa %HieH ¢ 9 d SR YA TA FHI® a 9 b IH R
(3) T FHH a TR ST TG HHF b T d Th MR
(4) T HHF b, c T d T 3R

© 2 @35

Fafag '0' sraeedl agB W AB s SRA M £ CAB = 40°, epdae HrEl
o Aled SRd. C
@MZAZMZB m

_ | Al<405,__\B
G)MZLA+MZLB=MZC 0
e MZLC=MLD o

@) @ AC 1 @ BC a=&a s favum fast
(1) faar a, b 9% 9 faum ¢, d SR 3TR4.
(2) faur a, b9 ¢ SR A faym. d g% 3R,
(3) e T SR TR

(4) faur camwﬂﬁﬁuﬁaﬁmm

ma‘m%ﬁmasooooa MR, <@l @ g o 5% €. W gE Iuiedm
Yot T e e fedR wH siRe?
39, 39 1_9_60 oy o
(1) 9 % ‘ (2) 4% (3) =% ,(4-) 9 /o
@Ta?aqmaﬁﬁ%.ﬁﬁmwmwhﬁaa
‘ 1
(a)253a3—3a+4 (b) y3 +6—2p

=

2__2_+ ‘ L SIS
(c)n : 3 (d) 10x +x_2 o

'(I)Wbad.agwﬁ'—nﬁa

(2) % b d ¢ TR AR
(3) THE USERl qgA R
(4)%x a 9 d SERI AR
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93.

94.

(AQAMZLAZMLB

Find the value of 273 X (2°)2'+ 717 —-2°

(a) 4 (b) —;— +3 &) = d 3—213— |

(1) Alternative (a) and (c) are correct. |

(2) Alternative (c) and (d) are correct and alternative (a) and (b) are wrong
(3) Alternative (a) is correct and alternative (b) and (d) are wrong

(4) Alternative (b) (c) and (d) are correct

In the adjoining figure ‘O’ is the centre of the circle. 5 eg AB is the diameter

of the circle. M Z CAB = 40°. Some statements are given below with respect
to the adjoining figure. Select the correct alternative. ’

G)MZLA+MZLB=M £C

OMLC=MZLD (d) seg AC L seg BC

(1) Statements (a), (b) are W_lfor_lg _and (c), (d) are correct. C

96.

(3) All statements are correct.

(2) Statements (a), (b) and (c) are cdrrec‘t»é‘lhd (d) is wrong. !(A\
A v B

(4) Except (c) all statements are correct.

. The value of a machine is 50, 000. If its value falls by 5% every year. Find

the puumag of decrease in value at the end of 2 years.

39 4 39, 169 o 17,
(l) 9 A> _ 2) 4A) (3) 25 Yo 4) 9A>
Observe the following expressions and select the correct alternative

| | 1
(a) —:a ~3a+4 (b) y3 +6 -2y
I 5. 3, =5 1
e 10x° + ——=
(c)n n 3 (d) 10x o 2x

(1) Only (b) and (d) are not a polynomial

(2) Only (b) and (c) are polynomials
(3) Not a single alternative is a polynomial.
(4) Only (a) and (d) are polynomials.

[ NMMS-MS-SAT
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97. 5 7 ¥ (G.S.T.) 18% oM ATAR TF TR ¥ 8260 e foraha 97. A Television set was purchased for Rs 8260 which included Goods and Spfvice

Hael. W R wurEt 9@ fewa fedi? | Tax (GST) 18%. Find the original price of the T.V. Set. |

i bl (2) 8000 =. . (1) 7000 | (2) 8000

QR GR0REA T (3) 7260 TN |

9 y 2 L am Tﬁ'&ﬂﬁ . . : v )
? (71?? g - 9 TR 7w A TR et ' 98. Find the ratio of the volume to total surface area of a sphere of radius 7 cm.

7:3 2)3:1 : - v -

XS 5 7 1)7:3 2)3:1 Y

l (3)3:7 4 1:3 ‘

99.W=wa+w;mﬁmm1ﬁmaﬂwaﬁfﬁwﬁ@6ﬁ

99, Dividend = Divisor x Quotient + Remainder. With respect to 'remainder’ in

feft smRa.
(5] 0’ <t > b’ aﬁ’ﬁ' the above formula, four statements are given below.
2 YIS 0< < 9N
(©) 0 < T 5 | Ed; & S5 (a) 0 < Remainder > divisor (b) 0 < Remainder < divisor
e HISTh > < ¥R : .
(¢) 0 < Remainder > divisor (d) 0 < Remainder < divisor
(1) %= ad b WK wF d TR ; |
(3)FH b 4 (j) : ~ (1) Only (a) and (b) is correct (2) Only (d) is correct
() e, b Ao (3) Only (b) and (c) is correct (4) Only (b) is correct
o s \ ' .
100.(1 )6 ;_( 2+ T;T (jE‘R’z 1316345!?45!) 10T ? 3 ' * 100.Find the factors of the expression 16a> + 54
a a-+ 6a+9 (2) 2 (2a-3) (4a” + 6a +9) ,
1) 2 (2a +3) (42> + 6a + 9 2) 2 (2a—3) (4a®> +6a+9
Ak ok a+3)(4a a

; _ ' | o 3k K

~
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